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Question |
Lo each case, mote x the Subject of the formula. Simplify your agswers if possible
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Question &

Solve the equatipns
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A baak offers o [simple interest) rote of 5% per annum . Johy deposits

RM 15000 in the baak. Calcu\a’re ’rhe mferes’r that will receive after five Vs
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Question 34
KM5000 is deposited into a bagk account by fete with the annual interest

fate of 4% and ompounded once 0 year. (alculate the amount he will have
after three years.
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( [\ﬁemg) RM 5000 #X %O = 350 RM200
(d years) RM5200 “X = = &M 208
(3 years) RMEKOS % &y = RM 2163
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Question 5
Solve the i Simultaneous linear equation by usiag elimination method.
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